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on the top of this page.
2. This paper consists of 50 objective type questions. Each question

will carry two marks. All questions of Paper-II will be compulsory,
covering entire syllabus (including all electives, without options).

3. At the commencement of examination, the question booklet
will be given to the student. In the first 5 minutes, you are
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follows :
(i) To have access to the Question Booklet, tear off the

paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.
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in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(iii) After this verification is over, the OMR Sheet Number
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5. Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
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6. Read instructions given inside carefully.
7. Rough Work is to be done at the end of this booklet.
8. If you write your Name, Seat Number, Phone Number or put

any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you  will render yourself liable to disqualification.

9. You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

10. Use only Blue/Black Ball point pen.
11. Use of any calculator or log table, etc., is prohibited.
12. There is no negative marking for incorrect answers.
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Test Booklet No.

iz'uif=dk ÿ-

fo|kF;k±lkBh egŸokP;k lwpuk
1. ifj{kkFkh±uh vkiyk vklu ÿekad ;k i`"Bkojhy ojP;k dksiÚ;kr fygkok-

rlsp vki.kkal fnysY;k mŸkjif=dspk ÿekad R;k[kkyh fygkok-
2. lnj iz'uif=dsr 50 cgqi;kZ; iz'u vkgsr- izR;sd iz'ukl nksu xq.k

vkgsr- ;k iz'uif=dsrhy loZ iz'u lksMfo.ks vfuok;Z vkgs- lnjps iz'u
gs ;k fo"k;kP;k laiw.kZ vH;klÿekoj vk/kkfjr vkgsr-

3. ijh{kk lq: >kY;koj fo|kF;kZyk iz'uif=dk fnyh tkbZy- lq#okrhP;k 5
feuhVkae/;s vki.k lnj iz'uif=dk m?kMwu [kkyhy ckch vo'; riklwu
igkO;kr-
(i) iz'uif=dk m?kM.;klkBh iz'uif=dsoj ykoysys lhy m?kMkos-

lhy ulysyh fdaok lhy m?kMysyh iz'uif=dk fLodk: u;s-
(ii) ifgY;k i`"Bkoj uewn dsY;kizek.ks iz'uif=dsph ,dw.k i`"Bs

rlsp iz'uif=dsrhy ,dw.k iz'ukaph la[;k iMrk w̌u igkoh-
i`"Bs deh vlysyh@deh iz'u vlysyh@iz'ukapk pwdhpk
ÿe vlysyh fdaok brj =qVh vlysyh lnks"k iz'uif=dk
lq#okrhP;k 5 fefuVkrp i;Zos{kdkyk ijr ns≈u nqljh
iz'uif=dk ekxowu ?;koh- R;kuarj iz'uif=dk cnywu
feˇ.kkj ukgh rlsp oš gh ok<owu feˇ.kkj ukgh ;kph œi;k
fo|kF;k±uh uksan ?;koh-

(iii) ojhyizek.ks loZ iMrkˇwu ifgY;kuarjp iz'uif=dsoj
vks-,e-vkj- mŸkjif=dspk uacj fygkok-

4. izR;sd iz'uklkBh (A), (B), (C) vkf.k (D) v'kh pkj fodYi mŸkjs fnyh
vkgsr- R;krhy ;ksX; mŸkjkpk jdkuk [kkyh n'kZfoY;kizek.ks Bˇdi.ks
dkˇk@fuˇk djkok-
mnk- % tj (C) gs ;ksX; mŸkj vlsy rj-

5. ;k iz'uif=dsrhy iz'ukaph mŸkjs vks-,e-vkj- mŸkjif=dsrp n'kZokohr-
brj fBdk.kh fyghysyh mŸkjs riklyh tk.kkj ukghr-

6. vkr fnysY;k lwpuk dkˇthiwoZd okpkO;kr-
7. iz'uif=dsP;k 'ksoVh tksMysY;k dksÚ;k ikukojp dPps dke djkos-
8. tj vki.k vks-,e-vkj- oj uewn dsysY;k fBdk.kk O;frjh‰ brj dksBsgh

uko] vklu ÿekad] Qksu uacj fdaok vkš [k iVsy v'kh dks.krhgh [kw.k
dsysyh vk< w̌u vkY;kl vFkok vlH; Hkk"kspk okij fdaok brj xSjekxk±pk
voyac dsY;kl fo|kF;kZyk ijh{ksl vik= Bjfo.;kr ;sbZy-

9. ijh{kk laiY;kuarj fo|kF;kZus ew̌  vks-,e-vkj- mŸkjif=dk i;Zos{kdkadMs
ijr dj.ks vko';d vkgs- rFkkih] iz'uif=dk o vks-,e-vkj- mŸkjif=dsph
f}rh; izr vkiY;kcjkscj us.;kl fo|kF;k±uk ijokuxh vkgs-

10. Q‰ fuˇÓk fdaok dkˇÓk ckWy isupkp okij djkok-
11. dWyD;qysVj fdaok ykWx Vscy okij.;kl ijokuxh ukgh-
12. pqdhP;k mŸkjklkBh xq.k dikr dsyh tk.kkj ukgh-
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1. “Our culture is what we are, our

civilization is what we have.” Who

said it ?

(A) Max Weber

(B) Robert MacIver

(C) Auguste Comte

(D) Arnold Toyanbee

2. The term ‘status’ is used to

designate ........................... .

(A) The work of a person as

estimated by a group

(B) The standard of living of a

person

(C) Person holding the designation

in office/work place

(D) The total standing of an

individual in society

1. ^^vki.k tls vkgksr rh vkiyh laLœfr] vkiyh

lH;rk gh vkiY;ktoˇ vkgs rh-** vls dks.kh

EgVys vkgs \

(A) eWDl oscj

(B) jkWcVZ eWdvk;Ogj

(C) vkWxLr dkWEV

(D) vjukWYM Vks;Uch

2. ^ntkZ* gh laKk [kkyhyiSdh d'kklkBh okijyh

tkrs \

(A) O;DrhP;k dk;kZps lewgkdMwu dsys

tk.kkjs ewY;ekiu

(B) O;DrhP;k thouekukpk ntkZ

(C) dk;kZy;@dk;ZLFkˇkoj O;Drh Hkw"k.khr

vlysys inuke

(D) lektkrhy O;Drhps ,dw.kp LFkku

Sociology
Paper II

lekt'kkL=
iz'uif=dk II

Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This Paper contains Fifty (50) multiple choice questions, each question carries

Two (2) marks. Attempt All questions.

lwpuk % ;k iz'uif=dsr ,dw.k iÈkkl (50) cgqi;kZ;h iz'u fnysys vkgsr- izR;sd iz'ukyk nksu (2)

xq.k vkgsr- loZ iz'u lksMok-
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3. For whom the study of ‘Social

Statics’ refers to Social structure and

‘Social dynamics’ refers to Social

change ?

(A) Auguste Comte

(B) Herbert Spencer

(C) Robert MacIver

(D) Confucious

4. An agricultural labourer

becomes an entrepreneur. This

exemplifies .............................. .

(A) Horizontal mobility

(B) Intergenerational mobility

(C) Vertical mobility

(D) Downward mobility

3. dks.kkP;k ers ^lkekftd fLFkrh'kkL=* Eg.kts

lkekftd lajpuk] o ^lkekftd xrh'kkL=*

Eg.kts lkekftd ifjorZu vkgs \

(A) vkWxLr dkWEV

(B) gcZVZ LisUlj

(C) jkWcVZ eWdvk;Ogj

(D) dU∂;qf'kvl

4. 'ksretwj m|kstd curks] gs d'kkps mnkgj.k

vkgs \

(A) leLrjh; xfrf'kyrk

(B) fi<hvarxZr xfrf'kyrk

(C) LraHkh; xfrf'kyrk

(D) v/kksxkeh xfrf'kyrk
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5. Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R).

Choose the correct answer from the

codes given below :

Assertion (A) : According to

functionalism, an

understanding of

any part of society

requires an

analysis of its

relationship to

other parts and

its contribution to

the maintenance

of society.

Reason (R) : Functional ism

views society as a

system that is a

set of interrelated

and inter-

dependent parts

which together

form a whole.

Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct explanatin

of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

5. [kkyh ,d fo/kku (A) vkf.k nqlÚ;kl dkj.k

(R) vls lacks/kys vkgs- [kkyh fnysY;k

ladsrkadke/kwu ;ksX; mŸkj fuoMk %

izfriknu (A) : izdk;Zok|kaP;k ers lektkpk

dks.krkgh Hkkx let.;klkBh

R;kP;k brj Hk kxk a' k h

vl.kkÚ;k l ac a/ k kp s

fo'ys"k.k vkf.k lektkP;k

fuokZgklkBh vl.kkjs R;kps

;k sxnku letwu ?k s. k s

vko';d Bjrs-

dkj.k (R) : izdk;Zoknkr ^lekt gh ,d

v'kh O;oLFkk vkgs] T;kr

ijLijlaca/kh o ijLijkoyach

Hkkxkrwu lexz r;kj gksrks*]

vls ekurkr-

ladsrkad %

(A) (A) o (R) nksUgha cjkscj vkgsr] ijarq

(R) gs (A) ps vpwd Li"Vhdj.k vkgs

(B) (A) o (R) nksUgha cjkscj vkgsr] ijarq

(R) gs (A) ps vpwd Li"Vhdj.k ukgh

(C) (A) gs cjkscj vkgs] ijarq (R) gs pwd

vkgs

(D) (A) gs pwd vkgs] ijarq (R) gs cjkscj

vkgs
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6. Who of the following said that

‘stratification is the functional

necessity of society’ ?

(A) Weber and Durkheim

(B) Davis and Moore

(C) Davis and Dahrendorf

(D) Davis and Marx

7. Which of the following is not an

institution ?

(A) Family

(B) Church

(C) Political Party

(D) Students’ Union

8. Who has introduced case study

method in social investigation ?

(A) N. Anderson

(B) F. Leplay

(C) J. Gaultung

(D) A. Lundberg

9. When the questionnaire gives wide

chance to the informant to give his

own answer to the question, it is

called as .......................... .

(A) Closed form

(B) Open ended

(C) Schedule

(D) Unstructured Form

6. iq<hyiSdh dks.kh ^Lrjhdj.k gh lektkph
dk;kZRed vko';drk vkgs*] vls EgVys
vkgs \

(A) oscj vkf.k nqf[kZe

(B) MsfOgl vkf.k ewj

(C) MsfOgl vkf.k MgjsUMkWQZ

(D) MsfOgl vkf.k ekDlZ

7. [kkyhyiSdh d'kkyk laLFkk lacks/kys tkr
ukgh \

(A) dqVaqc

(B) ppZ

(C) jktdh; i{k

(D) fo|kFkhZ la?kVuk

8. lkekftd vUos"k.kkr O;"Vh v/;;u iºrh
dks.kh izLrkfor dsyh \

(A) ,u~- v°MlZu

(B) ,Q~- yhIys

(C) ts- xkYVqax

(D) ,- yaqMcxZ

9. ,[kk|k iz'ukps mRrj ns.;klkBh mŸkjnkR;kyk
tsOgk iz'ukoyhr vf/kd la/kh fnyh tkrs] rsOgk
R;kyk dk; Eg.kwu vkš [kys tkrs \

(A) cafnLr izdkj

(B) eqDr izdkj

(C) vuqlwph

(D) vlajfpr izdkj

http://www.studentbounty.com/
http://studentbounty.com/


7 [P.T.O.

DEC - 14213/II

10. Empirical research is not associated

with which of the following ?

(A) Non-Participant observation

(B) Collecting data through case

study

(C) Structured interview

(D) Archival data

11. The simplest form of measure of

dispersion is :

(A) Frequency distribution

(B) Range

(C) Co-relation

(D) Association

12. The median is :

(A) Size of the middle item

(B) Average of frequencies

(C) Accurate measurement of size

(D) Mid-point of observations

13. The mean is affected by :

(A) Value of every case

(B) Quartiles

(C) Average

(D) Co-relation

10. [kkyhyiSdh d'kk'kh vuqHkokfJr la'kks/ku

lacaf/kr ukgh \

(A) vlgHkkxh fujh{k.k

(B) O;"Vh vH;klkrwu rF;ladyu

(C) lajfpr eqyk[kr

(D) iqjkfHkys[kh; rF;lkexzh

11. fodhj.kkP;k ekiukpk lokZr lksik izdkj

Eg.kts %

(A) okjaokjrk forj.k

(B) d{kk

(C) lglaca/k

(D) lkgp;Z

12. e/;ek Eg.kts %

(A) e/;koj vlysY;k ?kVdkpk vkdkj

(B) okjaokfjrkaph ljkljh

(C) vkdkjkps vpwd ifjekiu

(D) fujh{k.kkapk e/;fcanw

13. e/;kaoj ----------------------------------- pk ifj.kke

gksrks-

(A) izR;sd O;"Vhps ewY;

(B) prqFkZd

(C) ljkljh

(D) lglaca/k

http://www.studentbounty.com/
http://studentbounty.com/


8

DEC - 14213/II

14. Match the following and choose the

correct answer from the codes given

below :

Thinker

(a) Weber

(b) Ogburn

(c) Durkheim

(d) MacIver

(e) Abel

Definition of Sociology

(i) Discover principles of cohesion

and order within social

structures

(ii) Scientific study of social facts

(iii) Interpretative understanding of

social actions

(iv) Learning about society, a

description of ways to make

society better

Codes :

(a) (b) (c) (d)

(A) (i) (ii) (iii) (iv)

(B) (ii) (iv) (i) (iii)

(C) (iv) (iii) (i) (ii)

(D) (iii) (iv) (ii) (i)

14. tksMÓk ykok vkf.k [kkyh fnysY;k ladsrkadk

e/kwu mfpr i;kZ; fygk%

fopkjoar

(a) oscj

(b) vkWxcuZ

(c) nqf[kZe

(d) eWdvk;Ogj

(e) vWcsy

lekt'kkL=kph O;k[;k

(i) ,drk o O;oLFksph rRos lkekftd

lajpusr 'kks/k.ks

(ii) lkekftd rF;kapk oSKkfud vH;kl

(iii) lkekftd fÿ;kaps vUo;kRed vkdyu

(iv) lektkfo"k;h f'kd.ks] lekt vf/kd

pkaxyk dj.;kP;k ekxk±ps o.kZu dj.ks

ladsrkad %

(a) (b) (c) (d)

(A) (i) (ii) (iii) (iv)

(B) (ii) (iv) (i) (iii)

(C) (iv) (iii) (i) (ii)

(D) (iii) (iv) (ii) (i)
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15. Match the following and choose the

correct answer from the codes given

below :

Technique

(a) Oral History

(b) Participant observation

(c) Case Study

(d) Content analysis

Features

(i) Unique but generalisable

(ii) Non-literate communities

(iii) Coding manual

(iv) Participation in community

(v) Identification with community

Codes :

(a) (b) (c) (d)

(A) (ii) (i) (iii) (iv)

(B) (ii) (iv) (i) (iii)

(C) (iv) (ii) (iii) (i)

(D) (iii) (i) (iv) (ii)

15. tksMÓk ykok vkf.k [kkyh fnysY;k ladsrkadk&

e/kwu mfpr i;kZ; fygk%

ra=

(a) ekSf[kd bfrgkl

(b) lgHkkxh fujh{k.k

(c) O;"Vh vH;kl

(d) vk'k; fo'ys"k.k

oSf'k"VÓs

(i) vuU;lk/kkj.k ijarq lkekU;hdj.k dj.;k

tksxs

(ii) fuj{kj leqnk;

(iii) ladsrkad iqfLrdk

(iv) leqnk;krhy lgHkkx

(v) leqnk;k'kh ,d:irk

ladsrkad %

(a) (b) (c) (d)

(A) (ii) (i) (iii) (iv)

(B) (ii) (iv) (i) (iii)

(C) (iv) (ii) (iii) (i)

(D) (iii) (i) (iv) (ii)
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16. Match List I with List II and choose

the correct answer from the codes

given below :

List I

(Methods)

(a) Participant observation

(b) Case study

(c) Questionnaire

(d) Interview

List II

(Sociologists)

(i) Oscar Lewis

(ii) Goldthorpe and Lockwood

(iii) Thomas and Znaniecki

(iv) Robert Merton

(v) Nels Anderson

Codes :

(a) (b) (c) (d)

(A) (v) (i) (ii) (iii)

(B) (iv) (i) (ii) (iii)

(C) (i) (iv) (iii) (ii)

(D) (v) (iii) (ii) (i)

17. The examination of social artifacts

is :

(A) Case Study Method

(B) Historical Method

(C) Content Analysis

(D) Non-participant Observation

16. ;knh I e/khy vH;kl iºrh ;knh II

e/khy lekt'kkL=Kk'kh tq̌ ok vkf.k [kkyh
fnysY;k ladsrkadke/kwu mfpr i;kZ; fygk %

;knh I

(vH;kl iºrh)

(a) lgHkkxh fujh{k.k

(b) O;"Vh v/;;u

(c) iz'ukoyh

(d) eqyk[kr

;knh II

(lekt'kkL=K)

(i) vkWLdj ysohl

(ii) xksYMFkkWiZ vkf.k ykWdowM

(iii) FkkWel o ÷uWfu;dh

(iv) jkWcVZ eVZu

(v) usYl vW.Mjlu

ladsrkad %

(a) (b) (c) (d)

(A) (v) (i) (ii) (iii)

(B) (iv) (i) (ii) (iii)

(C) (i) (iv) (iii) (ii)

(D) (v) (iii) (ii) (i)

17. lkekftd dykœrhaps ijh{k.k Eg.kts %

(A) O;"Vh vH;kl iºrh

(B) ,sfrgkfld iºrh

(C) vk'k; fo'ys"k.k

(D) vlgHkkxh fujh{k.k
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18. Identify the method of

presenting frequency distribution

graphically :

(A) Histogram

(B) Cartogram

(C) Multiple bar diagram

(D) Percentage bar diagram

19. Match the following and choose the

correct answer from the codes given

below :

Groups

(a) In-group

(b) Reference group

(c) Secondary group

(d) Primary group

Characteristics

(i) Impersonal relationship

(ii) Involuntary membership

(iii) A model for evaluating one’s

ideas and conduct

(iv) With which individual identifies

himself

(v) Face to face relationship

Codes :

(a) (b) (c) (d)

(A) (iv) (iii) (ii) (v)

(B) (iii) (ii) (i) (v)

(C) (ii) (iv) (iii) (i)

(D) (iv) (iii) (i) (v)

18. okjaokfjrk forj.k fp=e; iºrhus lknj
dj.;kph iºr %

(A) LraHkkys[k

(B) ekufp=kys[k

(C) cgqfo/k LraHkkœfr

(D) VDdsokjhoj vk/kkfjr LraHkkœfr

19. tksMÓk ykok vkf.k [kkyh fnysY;k ladsrkadk&
e/kwu mfpr i;kZ; fygk %

xV

(a) var%&lewg

(b) lanHkZ lewg

(c) nq∏;e lewg

(d) izkFkfed lewg

oSf'k"VÓs

(i) O;Drhfujis{k ukrs

(ii) vuSfPNd lnL;Ro

(iii) Lor%P;k dYiuk o orZukps ewY;ekiu
dj.;kps izk:i

(iv) T;klkscr O;Drh rknkRE; ikors

(v) leksjkleksjps laca/k

ladsrkad %

(a) (b) (c) (d)

(A) (iv) (iii) (ii) (v)

(B) (iii) (ii) (i) (v)

(C) (ii) (iv) (iii) (i)

(D) (iv) (iii) (i) (v)
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20. [kkyh nksu fo/kkus fnyh vkgsrµ(A) o (R).

rh okpwu vpwd mŸkjkiq<s [kw.k djk %

izfriknu (A) :vUos"k.kkRed vH;klke/;s
cgqrsd oš k x̀fgrdkps lw=.k

dsysys ulrs-

dkj.k (R) : vls vH;kl ladYiukaP;k

Li"Vhdj.kklkBh o
vH;kldkpk vH;kl&

fo"k;k'kh ifjp;
ok<fo.;klkBh vk/kkjHkwr

Bjrkr-

ladsrkad %

(A) (A) vkf.k (R) nksUgha cjkscj vkgsr] vkf.k
(R) gs (A) ps vpwd Li"Vhdj.k vkgs

(B) (A) vkf.k (R) nksUgha cjkscj vkgsr] ijarq
(R) gs (A) ps vpwd Li"Vhdj.k ukgh

(C) (A) cjkscj vkgs] ijarq (R) pwd
vkgs

(D) (A) pwd vkgs] ijarq (R) cjkscj

vkgs

21. loZp foKkuk auk vi s f{kr vlysyh

vf/kdkf/kd vpwdrk vk.k.;kpk dsyk tk.kkjk
iz;Ru dks.kR;k ukokus vkš [kyk tkrks \

(A) oS/krk

(B) fo'oluh;rk

(C) vuqekiu

(D) lkekU;rk

20. Given below are statements,

Assertion and Reason—Read it and

choose the answer from the given

codes :

Assertion (A) : In exploratory

studies hypothesis

are usually not

formulated

Reason (R) : These studies

serve as a basis

for clarifying

concepts and

i n c r e a s i n g

familiarity of the

researcher with

the phenomenon

under study.

Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true, but

(R) is not the correct explanation

of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

21. An attempt to bring out greater

accuracy which is desired by all the

sciences is called as .................... .

(A) Validity

(B) Reliability

(C) Scaling

(D) Generality
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22. In a co-relation if score of Y
decreases when X increases it is
called as ............................... .

(A) No co-relation

(B) Direct co-relation

(C) Indirect co-relation

(D) Inverse co-relation

23. Which of the following is not a source
of hypothesis ?

(A) Analogies

(B) Findings of other studies

(C) Statistical analysis

(D) Personal experience of
researcher

24. A bank manager has different kinds
of relationship with his customers,
colleagues, superiors and
subordinates. Which of the following
terms explains this ?

(A) Multiple roles

(B) Role Set

(C) Status Set

(D) Role Conflict

25. Who among the following has
classified the working class into
three different categories as
unskilled, semi-skilled and skilled
manual workers in capitalist
society ?

(A) M. Weber

(B) C. Wright Mills

(C) V. Pareto

(D) R. Dahrendorf

22. lglaca/kkr tsOgk ^{k* ph xq.kla[;k ok<r vlsy
vkf.k ^;*ph deh gksr vlsy] rj R;kyk dk;
EgVys tkrs \

(A) lglaca/k ukgh

(B) izR;{k lglaca/k

(C) vizR;{k lglaca/k

(D) foi;ZLr lglaca/k

23. [kkyhyiSdh dks.krk x`ghrœR;kpk Úksr
ukgh \

(A) lkE;kuqeku

(B) brj vH;klkrhy fu"d"kZ

(C) la[;k'kkL=h; fo'ys"k.k

(D) la'kks/kdkps O;fDrxr vuqHko

24. ,dk c°d eWustjps R;kps xzkgd] lgdkjh]
ofj"B o dfu"Bkalkscr osxosxˇÓk izdkjps
laca/k vkgsr- [kkyhyiSdh dks.krh laKk gs fo'kn
djrs \

(A) cgqfo/k Hkwfedk

(B) Hkwfedk lap

(C) ntkZ lap

(D) Hkwfedk la?k"kZ

25. Hkk aMoy'kkgh lektkrhy Jfed oxkZps
oxhZdj.k vdq'ky] v/kZ&dq'ky o dq'ky
vaxesgurh dkexkj ;k rhu izoxk±e/;s
[kkyhyiSdh dks.kh dsys \

(A) ,e~- oscj

(B) lh- jkbZV feYl

(C) Ogh- ijsVks

(D) vkj~- MsgjsUMkWQZ
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26. The class polarization that Marx
predicted as :

(A) The division of each social
class into the more or less
privileged

(B) A growing gap between rich
and poor resulting in class
consciousness

(C) The growth of intermediate
strata in the middle classes

(D) The tendency for the working
class to ‘live and let live’

27. Who characterized history in terms
of an interminable struggle for
control ?

(A) Marx

(B) Pareto

(C) Weber

(D) Collins

28. Levi-Strauss’s work has been
organised around three areas.
Which are they ?

(I) Kinship

(II) Mythology

(III)Classification of primitives

(IV) Village

Find the correct answer according
to the code given below :

Codes :

(A) (III), (II) and (IV)

(B) (I), (II) and (III)

(C) (I), (II) and (IV)

(D) (II), (III) and (IV)

26. ekDlZus iwoZdfFkr dsysY;k oxk±ps /kzqohdj.k
Eg.kts %

(A) izR;sd lkekftd oxkZps foHkktu deh
vf/kd Lo#ikrhy fo'ks"kkf/kdkj iznku
dj.ks

(B) Jhear vkf.k xjhc ;krhy ok<rs varj
Eg.kts oxZ tk.khosph fufeZrh

(C) e/;e oxkZrhy e/;Lrjkph gks.kkjh
ok<

(D) d"Vdjh oxkZph ^txk vkf.k txq |k*
v'kh gks.kkjh izo`Ÿkh

27. fu;a=.kklkBhpk lrr y<k vls bfrgklkps
oSf'k"VÓ dks.k lkaxhrysys vkgs \

(A) ekDlZ

(B) ijsVks

(C) oscj

(D) dkWyhUl

28. ysoh&LV™kWl ;kaps dk;Z rhu {ks=kHkksorh la?kfVr
>kys vkgs- rh dks.krh \

(I) ukrsnkjh O;oLFkk

(II) feFkd'kkL=

(III)vkfne lewgkaps oxhZdj.k

(IV) [ksMs

[kkyh fnysY;k ladsrkarwu ;ksX; mŸkj fuoMk %

ladsrkad %

(A) (III), (II) o (IV)

(B) (I), (II) o (III)

(C) (I), (II) o (IV)

(D) (II), (III) o (IV)
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29. Who among the following is not

related with ‘Theories of Cyclical
Social Change’ ?

(A) Spengler

(B) Sorokin

(C) Toyanbee

(D) Marx

30. According to Dahrendorf interest

groups emerge out of the quasi-

groups under the proper conditions.
Which are they ?

(I) Leadership

(II) Freedom to organize

(III) Appropriate ideology

(IV) Social Commitment

Find the correct answer according to
the code given below :

Codes :

(A) (I) and (II)

(B) (I), (II) and (III)

(C) (II) and (III)

(D) (I) and (III)

31. Arrange the following stages in

order of appearance in Marx’s
theory. Use the code given

below :

(I) Feudalism

(II) Primitive communism

(III) Ancient/Slavery

(IV) Capitalism

Codes :

(A) (II), (III), (I), (IV)

(B) (I), (III), (IV), (II)

(C) (IV), (I), (II), (III)

(D) (III), (II), (I), (IV)

29. [kkyhyi Sdh dk s. k ^pÿh; lkekftd
ifjorZukP;k flºkark'kh* lacaf/kr ukgh \

(A) Lisaxyj

(B) lksjksfdu

(C) VkW;uch

(D) ekDlZ

30. MsgjsUMkWQZP;k ers] fgrlaca/kkaph fufeZrh lewgor~
v'kk ;ksX; ifjfLFkrhrwu gksr vlrs- rs fgr
laca/kh lewg dks.krs \

(I) usr`Ro

(II) la?kVusps Lokra´;

(III);ksX; fopkjiz.kkyh

(IV) lkekftd ckaf/kydh

ladsrkadkuqlkj vpwd mŸkj 'kks/kk %

ladsrkad %
(A) (I) o (II)

(B) (I), (II) o (III)

(C) (II) o (III)

(D) (I) o (III)

31. [kkyhy voLFkkaph ekDlZP;k flºkarkr O;Dr
>kY;kuqlkj O;ofLFkri.ks ekaM.kh djk- [kkyh
fnysY;k ladsrkadkpk okij djk %

(I) ljatke'kkgh

(II) vkfne lkE;okn

(III)izkphu xqykefxjh

(IV) HkkaMoy'kkgh

ladsrkad %
(A) (II), (III), (I), (IV)

(B) (I), (III), (IV), (II)

(C) (IV), (I), (II), (III)

(D) (III), (II), (I), (IV)
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32. Given below are two statements,
one is labelled as Assertion (A) and
the other is labelled as Reason (R)
and choose the correct answer from
the codes given below :

Assertion (A) : Mead’s view of
human interac-
tion sees indivi-
dual as both acti-
vely creating the
social environ-
ment and being
shaped by it.

Reason (R) : Symbolic interac-
tionists argue
that the mean-
ings which oper-
ate in face to face
interactions are
largely the pro-
duct of class rela-
tionships.

Codes :

(A) Both (A) and (R) are correct and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are correct but
(R) is not the correct
explanation of (A)

(C) (A) is correct but (R) is wrong

(D) (A) is wrong but (R) is correct

33. According to Marx which of the
following factors is determinant of
structure and change ?

(A) Cultural

(B) Political

(C) Ideological

(D) Economic

32. [kkyh ,d fo/kku (A) vkf.k nqlÚ;kl dkj.k
(R) vls lacks/kys vkgs vkf.k [kkyh fnysY;k
ladsrkad e/kwu mfpr i;kZ; fuoMk %

izfriknu (A) : e k u o h
vkarjfÿ;kafo"k;hP;k ehMP;k
n `"Vhdk suku qlkj O;Drh
lkekftd i;k Zoj.kkph
œrh'khyi.ks fufeZrh djrs o
R;kus izHkkfor gh gksrs-

dkj.k (R) : izrhdkRed vkarjfÿ;koknh
fopkjoar vls izfriknu
djrkr] dh leksjkleksj
gk s. k kÚ;k vk arjfÿ;k ar wu
fu?k.kkjs vFkZ gs eq[;Ros R;k
oxhZ; ukrs laca/kkps ifj.kke
vlrkr-

ladsrkad %

(A) (A) o (R) nksUgha cjkscj vkgsr] ijarq
(R) gs (A) ps vpwd Li"Vhdj.k vkgs

(B) (A) o (R) nksUgha cjkscj vkgsr] ijarq
(R) gs (A) ps vpwd Li"Vhdj.k ukgh

(C) (A) gs cjkscj vkgs] ijarq (R) gs pwd
vkgs

(D) (A) gs pwd vkgs] ijarq (R) gs cjkscj
vkgs

33. ekDlZP;k erkuqlkj [kkyhyiSdh dks.krk
?kVd lajpuk vkf.k ifjorZukpk fu/kkZjd
vkgs \

(A) lkaLœrhd

(B) jktfd;

(C) fopkjiz.kkyh;qDr

(D) vkfFkZd

http://www.studentbounty.com/
http://studentbounty.com/


17 [P.T.O.

DEC - 14213/II

34. Who formulated the middle range
theory ?

(A) E. Durkheim

(B) T. Parsons

(C) R. Merton

(D) M. Weber

35. Who attempt to link Sociology, Social
Anthropology and Psychology in a
single frame of reference ?

(A) Radcliffe Brown

(B) Malinowski

(C) Merton

(D) Nadel

36. Weber defined a ‘class situation’
as :

(A) The exploitation of the working
class by their capitalist
employer

(B) A person’s position in the
capital, product and labour
markets based on his economic
resources

(C) A social group’s consciousness of
its status and life chances

(D) The life style of a social class,
as defined by pattern of
consumption

37. Considering R.K. Merton’s concept
of latent function, which of the
following pairs is not correctly
matched ?

(A) Punishment — Cohesion

(B) Religion — Social

integration

(C) Law — Social

Control

(D) Conspicuous consumption —

Enhancing  one’s status in the
eyes of the others

34. e/;Lrjh; flºkar dks.kh izfrikfnr dsysyk
vkgs \
(A) b- Mj[kkbZe
(B) Vh- iklZUl
(C) vkj- eVZu
(D) ,e- oscj

35. lekt'kkL=] lkekftd ekuo'kkL= vkf.k
ekul'kkL= ;k fo"k;kauk ,dkp lanHkZ pkSdVhr
vk.k.;kpk iz;Ru dks.kh dsysyk vkgs \
(A) jWMfDyQ czk≈u
(B) eWyhuksOgLdh
(C) eVZu
(D) ukMsy

36. oscjus ^oxh Z; ifjfLFkrh* ph O;k[;k
[kkyhyiSdh dks.kR;k izdkjs dsyh vkgs \
(A) HkkaMoy'kkghrhy ekydkus JfedoxkZps

dsysys 'kks"k.k
(B) ,[kk|k O;Drhps HkkaMoy] mRiknu o

Jecktkj ;krhy LFkku] ts R;kP;k vkfFkZd
Úksrkaoj vk/kkfjr vlrs

(C) ,[kk|k lkekftd lewgkph R;kP;k ntkZ
o thoukrhy la/khfo"k;h tk.kho

(D) ,[kk|k lkekftd oxkZph thou'kSyh&th
miHkksxkP;k vuqca/kko:u Bjrs

37. eVZu ;kaph vizdV izdk;kZph ladYiuk
y{kkr gksrk [kkyhyiSdh dks.krh tksMh lqlaxr
ukgh \
(A) f'k{kk µ lalfDr
(B) /keZ µ lkekftd

,dkRehdj.k
(C) dk;nk µ lkekftd

fu;a=.k
(D) Hkidsckt miHkksx µ brjkaP;k

n`"Vhdks.kkrwu Lor%pk ntkZ mapko.ks
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38. Who among the following has

formulated the concept of ‘Cultural

lag’ ?

(A) Ogburn

(B) Weber

(C) Radcliffe Brown

(D) Sorokin

39. ‘Khaap Panchayat’ is against which

kind of marriage ?

(A) Monogamy

(B) Endogamy

(C) Hypogamy

(D) Polygamy

40. Different statuses associated

with a single individual are known

as ........................... .

(A) Status succession

(B) Status sequence

(C) Status inconsistency

(D) Status set

41. Who viewed himself as a cultural

determinist ?

(A) Merton

(B) Radcliffe Brown

(C) Levi-Strauss

(D) Parsons

38. ^lk aLœfrd i'pk;u* gh l adYiuk

[kkyhyiSdh dks.kh ekaMyh \

(A) vkWxcuZ

(B) oscj

(C) jWMfDyQ czk≈u

(D) lksjksfdu

39. [kki iapk;r dks.kR;k izdkjP;k fookgkaP;k

fojks/kh vkgs \

(A) ,dfookg

(B) varfoZokg

(C) izfrykse fookg

(D) cgqfookg

40. ,dkp O;Drh'kh osxosx š ntsZ tsOgk lacaf/kr

vlrkr rsOgk R;kauk dls vkš [kys tkrs \

(A) ntkZ okjlk

(B) ntkZ vuqÿe

(C) ntkZ folaxrh

(D) ntkZ lap

41. Lor%yk lkaLœfrd fu/kkZjd Eg.kwu dks.k

lacks/krkr \

(A) eVZu

(B) jWMfDyQ czk≈u

(C) ysOgh&LV™kWl

(D) iklZUl
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42. ‘Interaction is in between actors and

not in the factors.’ Who said it ?

(A) Mead

(B) Pareto

(C) Blumer

(D) Parsons

43. The hierarchical arrangement of

the systems is clear in Parsons’

social system. Arrange the

following in which they appeared in

his theory :

(I) Behavioural system

(II) Social system

(III) Personality system

(IV) Cultural system

Choose the correct answer from the

codes given below :

Codes :

(A) (IV), (III), (II), (I)

(B) (II), (III), (IV), (I)

(C) (IV), (II), (III), (I)

(D) (I), (III), (IV), (II)

44. According to Kurzweil who is the

father of structuralism ?

(A) Radcliffe Brown

(B) Levi-Strauss

(C) Malinowski

(D) Parsons

42. ^vkarjfÿ;k gh ?kVdk&?kVdkrhy ulwu rh
dR;kZ&dR;kZe/khy vkgs* vls dks.kh EgVysys
vkgs \

(A) ehM

(B) ijsVks

(C) Cywej

(D) iklZUl

43. Js.khjpukRed O;oLFksph ekaM.kh iklZUlP;k
lkekftd O;oLFksr Li"Vi.ks dj.;kr vkyh
vkgs- R;k flºkarkr O;Dr >kY;kuqlkj R;kaph
ÿeokj ekaM.kh djk %

(I) orZukRed O;oLFkk

(II) lekt O;oLFkk

(III) O;fDreRo O;oLFkk

(IV) lkaLœfrd O;oLFkk

[kkyh fnysY;k ladsrkadkae/kwu mfpr i;kZ;
fuoMk %

ladsrkad %

(A) (IV), (III), (II), (I)

(B) (II), (III), (IV), (I)

(C) (IV), (II), (III), (I)

(D) (I), (III), (IV), (II)

44. dq>Zosy ;kaP;k erkuqlkj lajpukRedoknkps
tud dks.k vkgsr \

(A) jWMfDyQ czk≈u

(B) ysOgh&LV™kWl

(C) eWyhuksOgLdh

(D) iklZUl
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45. Mead identified four basic and

interrelated stages in the act.

Arrange the order in which they

appeared and choose the correct

answer from the codes :

(I) Impulse

(II) Perception

(III)Manipulation

(IV) Consummation

Codes :

(A) (I), (III), (IV), (II)

(B) (II), (I), (III), (IV)

(C) (III), (I), (IV), (II)

(D) (I), (II), (III), (IV)

46. Who among the following considers

concensus and conflict as two

different sides of the same coin ?

(A) Parsons

(B) Merton

(C) Mills

(D) Dahrendorf

45. ehM ;kuh fÿ;se/khy pkj eqyHkwr vkf.k ijLij

lacaf/kr vls VIis funsZf'kr dsys- T;k iºrhus

rs O;Dr dj.;kr vkys vkgsr R;kaph O;ofLFkr

ekaM.kh fnysY;k ladsrkrwu fuoMk %

(I) Impulse

(II) Perception

(III)Manipulation

(IV) Consummation

ladsr %

(A) (I), (III), (IV), (II)

(B) (II), (I), (III), (IV)

(C) (III), (I), (IV), (II)

(D) (I), (II), (III), (IV)

46. erSD; vkf.k la?k"kZ ,dkp uk.;kP;k nksu cktw

vkgsr] vls [kkyhyiSdh dks.kR;k fopkjoarkauh

lkaxhrys \

(A) iklZUl

(B) eVZu

(C) feYl

(D) MsgjsUMkWQZ
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47. Match the following by selecting the

correct answer from the codes given

below :

List I

(Book)

(a) Crime and Custom in Savage

Society

(b) The Andaman Islanders

(c) The Savage Mind

(d) The Theory of Social Structure

List II

(Author)

(i) C. Levi-Strauss

(ii) B. Malinowski

(iii) A.R. Radcliffe Brown

(iv) R.K. Merton

(v) S.F. Nadel

Codes :

(a) (b) (c) (d)

(A) (ii) (iii) (i) (v)

(B) (v) (iii) (iv) (i)

(C) (ii) (i) (iii) (iv)

(D) (iv) (ii) (i) (iii)

48. An association is characterised

by :

(A) Customs

(B) Folkways

(C) Norms

(D) Usage

47. [kkyh fnysY;k ladsrkadke/kwu vpwd mŸkjkph
fuoM d:u [kkyhy tksMÓk tqˇok %

;knh I

(xzaFk)

(a) ÿkbe v°M dLVe bu lWOgst lkslk;Vh

(b) fn vaneku vk;yaMlZ

(c) fn lWOgst ekbaM

(d) fn fFkvjh vkWQ lks'ky LV™Dpj

;knh II

(ys[kd)

(i) lh- ysOgh&LV™kWl

(ii) ch- eWfyuksoLdh

(iii) ,-vkj- jsMfDyQ czk≈u

(iv) vkj-ds- eVZu

(v) ,l-,Q- ukMsy

ladsrkad %

(a) (b) (c) (d)

(A) (ii) (iii) (i) (v)

(B) (v) (iii) (iv) (i)

(C) (ii) (i) (iii) (iv)

(D) (iv) (ii) (i) (iii)

48. eaMyke/;s iq<hyiSdh dks.krs oSf'k"VÓs
vlrs \

(A) :<h

(B) yksdkpkj

(C) fu;eus

(D) fjokt
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49. Match the following by selecting the
correct answer from the codes given
below :

List I

(Concepts)

(a) Functional Prerequisites

(b) Net Balance of functional
consequences

(c) Universal functionalism

(d) Structuralism

List II

(Scholar)

(i) R.K. Merton

(ii) B. Malinowski

(iii) C. Levi-Strauss

(iv) T. Parsons

(v) A.R. Radcliffe Brown

Codes :

(a) (b) (c) (d)

(A) (i) (iii) (v) (iv)

(B) (iv) (i) (v) (iii)

(C) (iv) (i) (ii) (iii)

(D) (ii) (iv) (v) (i)

50. Who among the following is usually
regarded as the major figure in the
development of symbolic
interactionism ?

(A) Herbert Blumer

(B) George Herbert Mead

(C) Margaret Mead

(D) William James

49. [kkyh fnysY;k ladsrkadke/kwu vpwd mŸkjkph
fuoM d:u [kkyhy tksMÓk tqˇok %

;knh I

(xzaFk)

(a) dk;kZRed iwokZo';drk

(b) dk;kZRed ifj.kkekaps fuCcy larqyu

(c) lkoZf=d izdk;Zokn

(d) lajpukokn

;knh II

(fopkjoar)

(i) vkj-ds- eVZu

(ii) ch- eWfyuksoLdh

(iii) lh- ysfoLV™kWl

(iv) Vh- iklZUl

(v) ,-vkj- jsMfDyQ czk≈u

ladsrkad %

(a) (b) (c) (d)

(A) (i) (iii) (v) (iv)

(B) (iv) (i) (v) (iii)

(C) (iv) (i) (ii) (iii)

(D) (ii) (iv) (v) (i)

50. izfrdkRed vkarjfÿ;koknkP;k fodklkrhy
izeq[; O;Drh Eg.kwu lk/kkj.ki.ks [kkyhyiSdh
dks.kkyk vksˇ[kys tkrs \

(A) gcZVZ Cywej

(B) tkWtZ gcZVZ feM

(C) ekxkZjsV feM

(D) fofy;e tsEl
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